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ÍÛæ̃ Û¶ÛÛ : ¼ÛµÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ •Ûä̈ Û ÍÛÁõ”ÛÛ ™öé.  
 

1. ›ÛÐéüÁõ …¬ÛÙÜÈÛµÛÛ¶Û …é¤øÅÛé ÉÛä× ? ›ÛÐéüÁõ …¬ÛÙÜÈÛµÛÛ¶Û¶ÛÛ Ðéü©Ûä…Ûé ÈÛ¨ÛÙÈÛÛé.  

    …¬ÛÈÛÛ  

 (a) ¼Û›ÛÁõ©Û×ªÛ¶Ûà ¾ÛýÛÛÙþùÛ…Ûé ›÷¨ÛÛÈÛÛé.  

 (b) “¾ÛæÅýÛïõ-ÈÛÍ©Ûä”¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛÛé.  

 

2. ›ÛÐéüÁõ ÍÛÛÐüÍÛÛé¶ÛÛ ”ÛÛ¶Û•ÛàïõÁõ¨Û¶ÛÛ ÅÛÛ½Û-•ÛéÁõÅÛÛ½Û ›÷¨ÛÛÈÛÛé.  

    …¬ÛÈÛÛ  

 ”ÛÛµÛ¸ÛäÁõÈÛ¨Ûà¶ÛÛ ÅÛÛ½ÛÛÅÛÛ½Û¶Ûà ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé.  

 

3. ïõÁõÛ–ÛÛ©Û, ïõÁõÜÈÛÈÛ©ÛÙ¶Û …¶Ûé ïõÁõÍÛ×̧ ÛÛ©Û¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛà, ïõÁõÍÛ×̧ ÛÛ©Û¶Ûà ÈÛÐêü˜Û¨Ûà¶Ûé …ÍÛÁõ ïõÁõ©ÛÛ× ¸ÛÜÁõ¼ÛÇÛé 
˜Û˜ÛÛë.  

…¬ÛÈÛÛ 

 ïõÁõÈÛéÁõÛ¶Ûà Š©¸ÛÛþù¶Û, ÁõÛé›÷•ÛÛÁõà …¶Ûé ÈÛÐêü˜Û¨Ûà ¸ÛÁõ¶Ûà …ÍÛÁõÛé ÈÛ¨ÛÙÈÛÛé.  

 

4. (a) ›ÛÐéüÁõþéùÈÛÛ¾ÛÛ× ¡ö¦ø¸Ûà ÈÛèÜ±ù¶ÛÛ ïõÛÁõ¨ÛÛé ›÷̈ ÛÛÈÛÛé.  

 (b) ›ÛÐéüÁõ”Û˜ÛÙ¶Ûà …ÍÛÁõÛé 
    …¬ÛÈÛÛ  

 (a) ›ÛÐéüÁõþéùÈÛÛ¶ÛÛ ¸ÛóïõÛÁõÛé 

 (b) ›ÛÐéüÁõ”Û˜ÛÙ¶ÛÛ Ðéü©Ûä…Ûé  

 

5. (A) ¶Ûà˜Ûé¶ÛÛ ÜÈÛµÛÛ¶ÛÛé ”ÛÁõÛ×/”ÛÛé¤øÛ× ›÷¨ÛÛÈÛÛé : 

  (1) ›ÛÐéüÁõ …¬ÛÙÜÈÛµÛÛ¶Û¶ÛÛé ¾Ûä”ýÛ Š°éùÉÛ ¾ÛÐü«Û¾Û ÍÛÛ¾ÛÛÜ›÷ïõ ïõÅýÛÛ¨Û ™öé.  

  (2) ÈÛ©ÛÙ¾ÛÛ¶Û ÁõÛšýÛÛé ïõÅýÛÛ¨ÛÁõÛšýÛÛé ïõÐéüÈÛÛýÛ ™öé.  

  (3) ”ÛÛµÛ¸ÛäÁõÈÛ¨Ûà …é ÍÛÁõïõÛÁõ¶Ûà …ÛÈÛïõ¶Ûä× ¾Ûä”ýÛ ÍÛÛµÛ¶Û ™öé.  
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  (4) ”ÛÛµÛ¸ÛäÁõÈÛ¨Ûà ³ùÛÁõÛ ÈÛÛÍ©ÛÜÈÛïõ ÍÛÛµÛ¶ÛÛé¶Ûä× ÍÛ›÷Ù¶Û ¬Ûˆ ÉÛïéõ ¶ÛÐüá.  

  (5) ïõÁõÍÛ×̧ ÛÛ©Û …é¤øÅÛé ïõÁõ¶ÛÛé ¸Ûó©ýÛ“Û ¶ÛÛ¨ÛÛïõàýÛ ¼ÛÛé›Ûé ¶ÛÐüá.  

  (6) ÍÛ¸Ûó¾ÛÛ¨Û ïõÁõÈÛéÁõÛ¾ÛÛ× …ÛÈÛïõ ÈÛµÛÈÛÛ¶Ûà ÍÛÛ¬Ûé ïõÁõ¶ÛÛé þùÁõ ÈÛµÛé ™öé.  

  (7) ïõÁõÈÛéÁõÛ¶ÛàÜ©Û …é ÁõÛ›÷ïõÛéÌÛàýÛ¶ÛàÜ©Û¶ÛÛé …éïõ ½ÛÛ•Û ™öé.  
 
 (B) ýÛÛé•ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõÛé : 
  (1) ›ÛÐéüÁõ ›÷¾ÛÛ”Û˜ÛÙ¶ÛÛé Ðéü©Ûä ________ ¸ÛóÛ¸©Û ïõÁõÈÛÛ¶ÛÛé ™öé.  
   (a) ¾ÛÐü«Û¾Û ¶ÛºõÛé  
   (b) ¾ÛÐü«Û¾Û …ÛÈÛïõ  
   (c) ¾ÛÐü«Û¾Û ÍÛä”ÛÛïõÛÁõà  

  (2) ÍÛÁõïõÛÁõ¶ÛÛ …ÛÈÛïõ¶ÛÛ ¾Ûä”ýÛ ÍÛÛµÛ¶ÛÛé ïéõ¤øÅÛÛ ™öé ? 
   (a) ˜ÛÛÁõ 
   (b) ¸ÛÛ×̃ Û 
   (c) ™ö 

  (3) ________ ¶ÛÛ ÍÛ×›Ûé•ÛÛé¾ÛÛ× ›÷ ¼Û›ÛÁõ ¸Û±ùÜ©Û ³ùÛÁõÛ ÍÛÛµÛ¶ÛÛé¶Ûà ˆÌ¤ø ºõÛÇÈÛ¨Ûà ¬ÛÛýÛ ™öé. 
   (a) ¸Ûæ̈ ÛÙ ÐüÜÁõºõÛˆ 
   (b) ˆ›ÛÁõÛé  
   (c) …Å¸ÛÐüÍ©Ûïõ ˆ›ÛÁõÛé  

  (4) ÍÛ×Áõ“Û¨Û ÍÛéÈÛÛ ïéõÈÛà ïõÐéüÈÛÛýÛ ™öé ? 
   (a) ½ÛÛšýÛ  
   (b) …ÜÈÛ½ÛÛšýÛ  
   (c) ”ÛÛ¶Û•Ûà  

  (5) ïõÁõÍÛ×̧ ÛÛ©Û¶Ûé …ÍÛÁõ ïõÁõ¶ÛÛÄ×õ ¾ÛÐü«ÈÛ¶Ûä× ¸ÛÜÁõ¼ÛÇ ™öé.  
   (a) …ÛÈÛïõ  
   (b) Š©¸ÛÛþù¶Û  
   (c) ¾ÛÛ×•Û¶Ûà ¾ÛæÅýÛÍÛÛ¸Ûé“Û©ÛÛ  

  (6) …é¦øÛéÅºõ ÈÛé•¶ÛÁéõ ïõýÛÛ ”Û˜ÛÙ¶ÛÛé Ü¶ÛýÛ¾Û Áõ›æ÷ ïõýÛÛë ? 
   (a) –Û¤ø©ÛÛ ”Û˜ÛÙ¶ÛÛé 
   (b) ÍÛ¾ÛÛ¶Û ”Û˜ÛÙ¶ÛÛé 
   (c) ÈÛµÛ©ÛÛ ”Û˜ÛÙ¶ÛÛé 

  (7) _______ þéùÈÛä× …é þéùÈÛä× ¶Û¬Ûà.  
   (a) ÈýÛÜî©Û•Û©Û 
   (b) ¼ÛÛÔ  
   (c) …Û×©ÛÜÁõïõ  

_________ 
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Instruction : All questions carry equal marks. 

 
1. What is Public Finance ? Describe the objectives of Public Finance. 

            OR 

 (a) Describe limitations of Market Mechanism. 

 (b) Explain the concept of “Merit Goods”. 

 
2. Explain the advantages and disadvantages of Privatisation of public sector. 

                   OR 

 Explain the advantages and disadvantages of Deficit Financing. 

 
3. Define incidence, impact and shifting of tax. Describe the factors affecting distribution 

of incidence of tax. 

                            OR 

 Describe the effects of taxation on production, employment and distribution. 

 
4. (a) Causes of Growing Public Debt 

 (b) Effects of Public Expenditure 

          OR 

 (a) Types of Public Debt 

 (b) Objectives of Public Expenditure 

 
5. (a) State whether the following statements are True or False : 

   (1) Maximum social welfare is the main objective of public finance. 

   (2) Current states are called welfare oriented states. 

   (3) Deficit finance is a main source of income for the government. 
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   (4) Real sources cannot be created by deficit finance. 

   (5) Incidence does not mean direct monetary burden of tax. 

  (6) Under proportional tax, the rate of tax goes on increasing with the increase 

in income. 

  (7) Taxation policy is a part of fiscal policy. 

 (b) Choose the correct option : 

  (1) The objective of public finance is to secure _________. 

   (a) Maximum profit 

   (b) Maximum revenue 

   (c) Maximum welfare 

  (2) How many main sources of revenue for the government ? 

   (a) Four 

   (b) Five 

   (c) Six 

  (3) Market system can secure optimum allocation of resources only under 

conditions of ________. 

   (a) Perfect competition 

   (b) Monopoly 

   (c) Oligopoly 

  (4) How defence service is ? 

   (a) Divisible 

   (b) Indivisible 

   (c) Private 

  (5) Main factor effect to the incidence.  

   (a) Income 

   (b) Production 

   (c) Elasticity of demand 

  (6) Which law is introduced by Adolf Wagner ? 

   (a) Deminishing cost 

   (b) Equal cost 

   (c) Increasing cost 

  (7) _________ debt is not debt. 

   (a) Individual 

   (b) External 

   (c) Internal 

__________ 


